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1. Assume that the market supply curve of a book is given by Qs=3500+200P. The

demand for the book can be segmented into two components. The first component is
the demand for the book by students. This demand is given by Qs=1700-25P. The
second component is the demand for the book by all others. This demand is given by
Q0=2500-200P. Derive the total market demand curve for the book. Find the
equilibrium market price and quantity. Also, determine the consumer surplus for each
component of demand. (10 %-)
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FRBRUAZES 2500 BA 0 BERPSTI—KER > EHAFAREL G —EM
FREIE P BERA lfh‘tﬁﬁ"ﬁfs B9 E LA 1 Qa=1500-02*P ; B Ti#»
FREHE RS Qb=1300-0.4*P. FHHBBF H i ERERRETLE?
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(c) & 3 #| 4 (accounting profit) + 4 & #] 8 (economic profit) ~ LA & & & 2
(economic rent) = F #H N HERL B A M ER 7

4 FFEKREFAR TREBARAFHRTIN 0 BF THEBRAMFIR, © AR K
BYRERFEAR B RTEEHLEA K EREME (Gross National
Happiness) ° 3%t =Fu£ £ - (20 %)

5. 34584 & 71 (average labor productivity)sy # &y %% 4 B 5 %4 » AR H =18
BEIE27EERAELNE - (155)

6. 1825 B IS i o Mk B 4k 4844 4 (aggregate supply) T M A4 {E £ 0 & B
Do o REFLEAKEAE  EAE WML ? ARARE - (159)
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